@ @ Q@ Multipliser desimaler med 10 100 000 000

StudentName: _ ExamDate: _ ExamScore:
2,892 x 10 = 4,032 % 100 =
4,68 x 100 = 7,993 x 10 =
6,6 x 1000 = 2,575 % 1000 =
7,698 x 100 = 7,948 x 10 =
6,045 x 1000 = 9,109 x 1000 =
5,623 x 10 = 7,374 % 10 =
4,042 x 100 = 3,553 x 1000 =
9,254 x 10 = 3,723 x 10 =
8, 609 x 1000 = 1,403 x 100 =
7,318 x 10 = 3,753 x 1000 =
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Multipliser desimaler med 10 100 000 000

StudentName:

2,892 x 10 =28.92

4,68 x 100 = 468

6, 6 < 1000 = 6600

7,698 x 100 = 769.8

6, 045 x 1000 = 6045

5,623 x 10 =56.23

4,042 x 100 = 404.2

9,254 x 10 =92.54

8,609 x 1000 = 8609

7,318 x 10 =73.18

ExamDate:

4,032 x 100 = 403.2

7,993 x 10 =79.93

2,575 x 1000 = 2575

7,948 x 10 = 79.48

9,109 x 1000 = 9109

7,374 x 10 =73.74

3,553 x 1000 = 3553

3,723 x 10 =37.23

1,403 x 100 = 140.3

3,753 x 1000 = 3753
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